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Pn >= (1-.99)*(1/n) C99 =exp(2.326*sig-0.5*sig"2) Pn >= (1-.95)1\(1/n)
Z Z=2.326 Z=1.645
n=5 5.4928E-001
Cn =exp(Z*sig-0.5*sig"2)
n=18 Y4 Z=.7529 8.4668E-001 Z=1.0223
sig"2 = In(C\2+1)
sig=sqrt([In(CyY"2+1)"2)]
P76@99 P76@95 P99 P95 P99/P76 P95/P76
C76 C78
p 22|p76 p76 8.1113E-001(8.7269E-001 0.99 0.95|RPF @ 99 [RPF @95
z sigman2 sigma 8.8207E-00% 2.326 1.645
CV 0.8 4.947E-001|7.0335E-001 1.45 1.7 4.0 2.5 2.76 1.43
0.47(1.9959E-001(4.4675E-001 1.34 15 0.9 1.9 0.67 1.25
0.76| 4.559E-0016.7521E-001 1.44 1.7 0.8 2.4 0.55 1.41
1{6.9315E-001|8.3255E-001 1.47 1.8 4.9 2.8 3.33 1.52
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Attachment 7, Reasonable Potential Multiplier Calculations




